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I8 Y¥7-97 qiel GUS] 4 [Qyrfod 9 T 8 - @Wue @, @, W, g 3K F /349
¥v7-7 4 Jol 1 qegr 13 & | @4t 3eT S 8

GUE & 7 J97 G&IT 1 T 5 7% 37fd TY-I70T TR & Jo7 &, TP J97 2 37h] H
& | F% F97 HT I 40 551 & 37feh 787 §1 F1ET |

GUe & 7 J97 T8I 6 T 8 T TY-IHIT FHR & Fo7 &, F4PH J97 3 37H HI
8 | Icdb Y97 %7 IR 80 Ieq] & 37ferek 7g7 &7 =ifey |

GUg T 4 97 GEgT 9 3K 10 FH-3709 IR & Yo7 & Tddb I97 5 3Hl &1
g | J9% F97 HT I 120 V=5 & 37fere 71 &7 Fizw |

GUE T H J97 &7 11 37K 12 FG-3TERT 97 &, I J97 4 371 71 8 |

GUE & § Y97 &7 18 FHIEA-3TRT 8§ | I8 97 8 371 #7 3 5@ 31 97 & -
13 (%) slaz/@ @ (1 37%) o7 13 (@) T @ (2 37%) |

97-77 § GHT T HI3 [@HcT 78 & | d9fl, Fo I 7 dake faHey 7T @
g 1 08 3997 7 & &aer v &1 fasbeq &7 I oifaw |

T %1 377+ ITR-JIeadsT & 19 o By |

Wvus <h
(3t eg 3T ued) (5x2=10)
TR A9l 3R Iermfaal 4 afaa a7 a1 g9 o= fomam ?
Tee hIT | 2
23 H NG o 9199 & ®9 H IS o Haw hl T <hifaT | 2
WRA  SEEeY SATEAT Al TS ? T FHIWT | 2
‘A ST fRE YRR HgT T HE YUl & 7 ? 2
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(it)

§729)

(iv)

(v)

(vi)

(vii)

(viii)

o

5%

This question paper comprises five sections — Sections A, B, C, D and E.

There are 13 questions in the question paper. All questions are compulsory.

Section A — Questions no. 1 to 5 are very short answer type questions, carrying

2 marks each. Answer to each question should not exceed 40 words.

Section B - Questions no. 6 to 8 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

Section C - Questions no. 9 and 10 are long answer type questions, carrying

5 marks each. Answer to each question should not exceed 120 words.

Section D - Questions no. 11 and 12 are case-based questions, carrying

4 marks each.

Section E - Question no. 13 is map-based, carrying 3 marks with two parts,
13(a) from History (1 mark) and 13(b) from Geography (2 marks).

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

Attach map along with your answer-book.

SECTION A
(Very Short Answer Type Questions) (6x2=10)

Why did Indian merchants and industrialists support the Civil
Disobedience Movement ? Explain. 2

Examine the significance of pipeline as a means of transportation in the

country. 2
Why has India adopted a multi-party system ? Explain. 2
How is ‘Demand Deposit’ an essential feature of money ? 2
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(5.1) a& fafmion & fofu STawaes SaRyd ammft - g ? 1
(5.2) I JTN § oI HaL T Th G180 ST | 1
T @
(vg-3w{ta ) (3x3=9)
(%) RO TN HR SHITATh @il H AR T HIT | 3
arera
(@) d, fa<ii™ Jomelt % T Hd 9 o &9 H fhT TR S Al 8 ? T
hINTT, | 3

“Hdl T gEEN W ged R IO Idid | a1 WiE 91 i % o
Al WIS I = H W@ F&0 91 |7 9Rd % HeH H 39 HAT hl gie

T | 3
YA T TSHIfdeh Al o USiepul IR ATal H 16 TR i fHeh! I T
HIT | 3
Qug T
(Srdswd Ted) (2x5=10)
(®) “Aepdd wEH, I Faearali (fGeredl) ¥ S8R & 7 39 Ho9 &
farecteor i | 5
reran
(@) ¥ g o dlehad o fa=R % faw 9 @awe o R w1 favem
T | 5
(%) I HRhI I TG HINT T qRG T IR0 i IedTizd H H THEH
qd g | 5
3Tt
(@) weAhd HIfT foh fohm TR Sveientor 4 =aTaeh WM < Siad ol JHTed
[ERIEN 5
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5. Study the given flowchart and answer the questions that follow :

Fibre s e Weaving
Production P g Knitting

. Garment
manufacture

Dyeing and
Finishing

(5.1) Which is the basic material required for garment manufacturing ? 1
(5.2) Give one example of value addition in the textile industry. 1
SECTION B
(Short-Answer Type Questions) (3x3=9)
6. (a)  Differentiate between formal and informal sources of Credit. 3
OR
(b) How does a bank work as a key component of the financial
system ? Explain. 3
7. “It was essential to preserve folk tradition in order to discover one’s
national identity and restore a sense of pride in one’s past.” Support the
statement in reference to India. 3
8. Explain the role of Election Commission in the °‘registration and
recognition’ of political parties in India. 3
SECTION C
(Long-Answer Type Questions) (2x5=10)
9. (a) “Democracy is a better form of government than any other
alternative.” Analyse the statement. 5
OR
(b)  Analyse the reasons for the overwhelming support for the idea of
democracy all over the world. 5
10. (a) Examine the factors which facilitate globalization in India. 5
OR
(b)  Assess, how globalization has touched the lives of larger society. 5
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11.

12.

Qs v

B
O

(ha-TeTiE 99 ) (2x4=8)

= fou U S @i eagEe afer 3 35k = for T gt % 3w fafev
Terdaan fead 6 v, 26 JFad, 1930

‘T favara g T fordft off wome ht o v SHar =1 off I8 & TR

(inalienable) ﬁw%%ﬁmﬁﬁ,wﬁﬁsﬂqwuwﬁﬁﬁtsﬁm

&1 Teft srrevIeRard gt g e 3% I wed & ufiqul sreE firdd | guw I8

ft fogam 3 fop afe 8 Y Ter A9 ST =1 31 ARl & dfvd WEd! 8

3T gETcht 8 A1 a1 sl it TR i 9ga AT IW T THIE HE Hl AR

%|Wﬁl%lﬁ'ﬂ(W)Wﬁqmﬂm‘cﬂ?{wmﬁwdmlﬁdmd

foram 8 dfces IEF SHAT o1 WU foham ® SR o9 I aifdies, TeHlfdes,

TR T 3TeTforeh & 9 A8 L fean B | gafoe gam favamE 2 fo And

H AMEE €9 F 5T o Ty 4T It gEdl Sl FHE R IO TS T

FE =g |

(11.1) TIAAT ol YA RN ST TGN AR AT =1 TR 2

(11.2) WRd % AN gRT g1 TGS i STE9Th FAT /AT T 2

(11.3) HiIH & ATBR JEAIE (1930) % T h! SARSAT iU |

= fou Tu S @ eaHgEe ufen 3 35k i for Tt & 3w fafe

T referaen 6 Sfra Wt

95d GHY d% YR AT UREed gadr U HifHd &9 a% @ fohan S
o | fosm e Stenfihl < e % |1 <R 9 uftged % g9 & § foega
I3 3 7 | T&W 9 i Tl aTel IiEET ¥ o HER TS S Tid § giafda &
T R | UiEEd &1 I8 faehe dun wreAl o fowr i agreran 8§ 9vd gl e
8 | SEifeTy uiteed, H=R o ST Ush-gil o I3 2 |

A YA 94 fammed oreRw, fafagarsti, wwre qenm g 9 H@fﬁﬁ
a@mﬁ%ww%w%ﬁwmﬁwgw%ﬁa Iy @
S NeRd, EHMERGE, edl, giesH, Mt qun gewe, snfe sEes
GTHTRSTeh-3Tf |o|eh|Hﬁ3Heh TR U TR 2 | e & aida i
IR+ AT Sl e Wk & 8 | $94 AR o hl TG fohal & el
AR e o fow giaemsti  areqt ¥ sead 61 & |

(12.1) 9REE % o H T3 foh¥ SRR T HE@qUl HIeh & ?

4

1
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11.

12.

SECTION D

(Case-based questions) (2x4=8)

Read the case given below carefully and answer the questions that follow :
The Independence Day Pledge, 26 January, 1930

‘We believe that it is the inalienable right of the Indian people, as of any
other people, to have freedom and to enjoy the fruits of their toil and have
the necessities of life, so that they may have full opportunities of growth.
We believe also that if any government deprives a people of these rights
and oppresses them, the people have a further right to alter it or to
abolish it. The British Government in India has not only deprived the
Indian people of their freedom but has based itself on the exploitation of
the masses, and has ruined India economically, politically, culturally, and
spiritually. We believe, therefore, that India must sever the British
connection and attain Purna Swaraj or Complete Independence.’

(11.1) Why was freedom considered an inalienable right of the Indian
people ?

(11.2) Why was Purna Swaraj considered essential by the people of
India ?

(11.3) Explain the significance of the Lahore Session of Congress (1930).

Read the case given below carefully and answer the questions that follow :
Lifelines of National Economy

For a long time, trade and transport were restricted to a limited space.
With the development in science and technology, the area of influence of
trade and transport expanded far and wide. Today, the world has been
converted into a large village with the help of efficient and fast moving
transport. Transport has been able to achieve this with the help of
equally developed communication system. Therefore, transport,
communication and trade are complementary to each other.

Today, India is well-linked with the rest of the world despite its vast size,
diversity and linguistic and socio-cultural plurality. Railways, airways,
waterways, newspapers, radio, television, cinema and internet, etc. have
been contributing to its socio-economic progress in many ways. The
trades from local to international levels have added to the vitality of its
economy. It has enriched our life and added substantially to growing
amenities and facilities for the comforts of life.

(12.1) How is science an important factor in the development of
transport ?

EE
I

4

1
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(12.2) HHEIAH o HEHideh Igadl sl qiasd T8 ThR Thihd Hdl 8 ?

e HIfT |
(12.3) Tret Tng & fofw =R & Hew o1 fagamor v | 2
Qg T
(arfer-smenta wea) (1+2=3)

13. () Tou U wRa & ToHifos @-aHtEs (98 11 W), § HEfdied SR
H HEE@ ¥ A’ % ¥ H Tafed T Sl qgeE HNT R 3IEh 9™
il T8 {@1 W 35H g8l A4 fafaw |

A. 98 T &l TEH1 o RO TEEINT eI bl I1ud o= T | 1
Gi) feu T wrRa & € TeraEE w AEfiiea s sifed hifse R 39

Tm fafey |
(F) I U GE] SA GIF 1
Jrora
(II)  STeIe |TFAAX oISt qTeh 1
(@) 3feu el sTmisg gamg e 1
qig:  RHEfciRad I97 Fac GRETAT qhemdat & 077 yo7 &I 13 & €& T/
g/ 3x1=3
(13.1) 39 Tsa o1 A foiflgu Sret 1927 0 vrdla Usda S0E &1 stfeeyH
73T | 1
(13.2) (%) 38 TF o1 9 faaRgu gt T T Soft a2 fedra 2 | 1
Jrra
(@) 38 T 1 T fafgu J|t siTeqe Areea? doiars e | g | 1
(13.3) 39 W 1 7 foiRgu et sfeu ieht sraifsdta garg o= feva 2 | 1
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(12.2) How has transport integrated socio-cultural plurality ? Explain. 1

(12.3) Analyse the significance of communication for a nation.

SECTION E
(Map-Based Question) (1+2=3)

13. (@) On the given political outline map of India (on page 11), identify
the place marked as ‘A’ with the help of the following information

and write its correct name on the line marked near it.

A. The place where Non-Cooperation Movement was called off

due to violence. 1

(i1))  On the same given map of India, locate and label the following :

(@) (@D Narora Nuclear Power Plant 1
OR

(I1) Bengaluru Software Technology Park 1

(b)  Indira Gandhi International Airport 1

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 13. 3x1=3

(13.1) Name the State where the session of Indian National Congress
was held in 1927. 1

(13.2) (a) Name the State where Narora Nuclear Power Plant is
located. 1

OR

(b)  Name the State where Bengaluru Software Technology Park
is located. 1

(13.3) Name the city where Indira Gandhi International Airport is
located. 1
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